Worksheet 10

Sections 306 and 310
MATH 54

September 25, 2018

Exercise 1. Assume that A is row equivalent to B. Find bases for nul A and col A.
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Exercise 2. True or false? Give brief Just1ﬁcat1ons iﬂ L ] } { _B % b3 :')
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Exercise 3. Find the vector x determined by the given coordinate vector [x]4 and the given

e el
e W-L3] % 81 44): 3]

Exercise 4. Find the coordinate vector [x]g of x relative to the given basis §.
G (5 R S b
We wont *o fieg [ﬂp = [*,{A In other pwords, e
Wok Yo fird R cuch  +hed

X [-_‘A ¥ Xz[}f‘l = L—,l] 50 e word o Solye

{] + l*Li“Z

the S ¢FCm
‘ 1 3, 5= |

w‘ fot vr the 'F?I}ow;'\\}
°V3W‘<Nlta, mosAX

-2 ggl+27—~) Qz [ < -z '1“1%{1‘ ._7.'7_‘
e e—— 3
l > o 1|




Exercise 5. Find a basis of the following vector spaces. What is the dimension of each?
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Let 4 V' — W b2 alinear transformation. Shot that if {vi,...,Vp} is linearly dim 3

dependent V, then {T'(v1),...,T(vp)} is linearly dependent in W. Use this to show that if
{T(v1),...,T(vp)} is linearly independent in W, then {vy,...,vp} is linearly independent

in V.
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